Pashu Parichar 1st Shift
-03.12.2024

Which of the following physiographic regions of
Rajasthan share's’-its boundary with Madhya
Pradesh?

Choosc the most appropriate answer from the
options given below:

(A) Western desent plains region .

(B) Semi-arid region

(C) Aravali region-

(D) South-castem plateau region
(E) Question not attempted

T 1 Fafefaa § ¥ S s O oo/

@'}he difference between the compound interest
4

TS T 0 T e R
ﬁﬂ%ﬁsaﬁmﬁﬁ%waﬁhmmmgﬁ
(A) il el e 3
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(C) e &

Dy <R ve &=

(E) Sgai@wx

Tropic of Cancér'passes through which of the
following regions of Rajasthan?
Choose the most appropriate answer from the
options given bc\ow
(A) Sirohi
(C) Jhalawar

(E)

v (®) Bhﬂwara

ﬁﬁ?ﬂ%ﬂﬁmﬁiﬂ
(a) fad&

(C) TEEE
(E) i@

Which of th ollo ing rcgions of RajaSlh(ln

shares its boundary with Gujarat state?

Choose the most appropriate answer from the

options given below:
(X) Chittorgerh  (B) pa“-
(C) Udaipur (D) Nagaur
(E) Question not attempted
e &

i AT A

A e e g e
AK) ﬁﬁﬁ%‘ﬁ @

() L ®)

""" (D) Banswara »
Question not attempted
ﬁt@m% ﬁ:rﬁ-rf@aﬁ'é

FA-TT % T T &

(B) orgafas
DER.-1B14) &

' (O *% 62050

The compound interest on T 4,000 at 10% per

, annum for li‘ycars interest compounded half

(]

yearlyis:” **

34,0007 1 A aﬁ%sﬁmm%mﬁmatﬁaaémﬁa
T 2% e TRy =T 3

(A) - R.630,50 (B) 600

(D) %625

(E) Question not attempted / AT w7

and the simple interest on a certain sum for 2
years at 10% per agpum is'T 700. Find the
compound interes ¢ same sum at the same
rate for l-2~ t&n interest is compounded
half year
%& 10% a1 & & Tehgfa =arar

= & 3T T 700 1 FH TRTTCIA
- T F IHIfR = I R qT =

Io

mhaﬁm%l
’\/ﬁ T11,033.75

(B) T12,337.50
31221125 (D) T 11,885.40
Question not attempted / aﬂﬂﬁaw

©
(E)

At what rate of compound interest per annum will
asumof¥ 5,000 become 2 5,724.50 after 2 years?
s =Tt v anfier 2ea 5,000 frafira

T TUW 2 5,724.50 B Tl

(A 6% (B) 6.5%
(C) 1.5% ®) 1%
(E)

Question not attempted / 3R w2t

What number should be subtracted from each of
15, 28, 20 and 38 so that the resulting numbers
are in proportion?
WAl 15, 28, 20 7T 38 3 s A & -t wET
e e R ST e wwr i €
A 3 @) 6
© 4 D) 2
(E)  Question not attempted / 3 ¥
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The Nagoya Protocol in,access -and benefit
sharing was adopted under &l_xg aggis of:
Choose the mast appropr, iarg

answer from the
options given below;

(A)  The Zodlogical Surveyf Tndia

(B) The convention on Biﬂogfcal‘bivcrsily

(C)  Prcinvestment Surveydf Fotest Resources

(D) National Centre “fdr Biotechnology
Information Q L

(E) Qucslionnotallcmptcd ‘

ST W AN WRRA T Mo

% st St AL |
ﬁnﬁfaaﬁmﬁiﬁ&wﬂgg;wgmmgﬁ:

(A) i wft weem

®) Sefafwadfr (o

+e) IR H i P i
(D) S HT B AR Sree
(E) srgui@ws o

First ‘National Space Day® (s observed on 23"
August 2024 because: }<

Choose the most appraprm answer from
India became the fourthy country tofland on

options given below:
the moon and the firstggireach the %{n .

(A)

10

11

N

12

Polar Region on 23"¢Avpust ;N
(B) 23 August is the binhw er of
Indian Space Prograrimé
(C) 23" August is the mmmndation of
ISRO
(D) Indian MAXRS was launched on
231 Ay st i
(E) Question cmpted!
TR U iafer feaw 233nmer 2024 @
A1 TAT?
Pt et & I S
A) T fae i s A g 30T
3T 23 30T 2023 Feafiyoft gy v 3 TG
qIeT VBT 297 N
(B) ZJW@T‘WQ@(W*WW
st & <
(C) 23 AT & oy ofy X ,
(D) T Wt 3t 23 e @ RN
L5l
(@) s
2

>

The state animals of Rajasthan are:
Choosc the most appropriate answer from the
options gi\}cn below: €I
(A) Tiger and Cow Co
(B) Tiger and Came N
(C) Chinkaraand Camel
(D) Camcl and Black-Ranther
(E)  Question not attergipted
TR F T e O
Frefefea fawet & watfia sugm smgs.
(A) rmaraitmmr
(B) wrrakEz g’
€y Wy feror (FmpmT) st Sz
(D) 2

(E) aﬂﬁﬁaﬁ g} (g‘

Which of

the Bay’ engal dmig:?ge system?

Q@ﬂlc most,gpp'rapriare answer from the
< opﬁans given below: o
\\) Jakham Chambal
(©) Mahi Sabarmati
(E) -Question not attempted
Freafafem & @-dt v apa Fra s dry

ving-hvers is associated with

Haifer g7 <
ﬁqﬁaﬁaaﬁa?ﬁﬁﬂﬁ%ffbﬁwga—mgﬁ:
(A) wmaEw =

(©) =@ ‘g HI=OTAT

E) gufawd g

' N

Which one of the follo\ihg rivers does not flow
in Rajasthan? '\:’!

Choosc the most app@ria(e answer from the
Options given below:

(A) Subamarckha (B) Mahi
C)  Luni D) Banas
(E) Question not altempted
PR 3 2 o < oot 3 e ey &
Prenffere el & Raeres g wae i,
Wwvf‘xm/gavftq‘_r'}
(B) = o
©
D) T
(@) " aygafayy
[ Conta,.,
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I)EF‘B14I &

nich of the following National Highways pass
Whic
* hrough Rajasthan?

“hoose the most appropriate answer from (he
Choo!

options given below: -

(A} National Highway no - 208
(B) National Highway no - 4
©

National Highway no - 10
(D) National Highway no - 11
(E) Question not altempted
rafafea & & R Uy TS ey

ﬁ%ﬁaﬁmﬁiﬁﬁmﬁi}m
(A T Tt ey 208

WBY T ot w4
©) “@mmmm- 10
®) O T e 11

TULH J:

E) afmwsn

Identify the Rajastfian; Player who' represented

India in Paris Olympics 2024. ' /

Choose the moss appropriate answer frq the

options given below: "\

(A) Lalit Kumar Upadhyay ¢ \}

(B) Maheshwari Cha_uh:m \W |

(C) Neeraj Chopra ’0

(D)  Aishwarya Pratap Sin xmar 5

(E) Question not N,

T T F@w’!@ it Tt §

e w1 wfaffires faan:

Frerfefira fomedt 3 @ waffos sagm smogh:
—A)  wfer R T |

(B) wrewt e

(©) it g

(D) ¥ ey fitg v

(B)

Hgaf@ vy

16

N%i)ajan Lal Sharma, cM of Rajasthae
N

In which -of the following games hay Nk
E i
Clmudlmry'ol’.lhunjhunu (Ra

jnsthnn) Won megy
at Macau, China in June, 20247

Choose the sy appropriate 4
options given below:

nswer from Ty

(A) Gymnasties

(B)  Sambo

(©)  Chess

(D) Ba(lmfnton

(B) Qucstioh not attempted

ST R i et o o

resented which constituency

in theléd
Assembly? ’

Choose the most appropriate answer from te
options given below:

(A)  Sanganer

(B) Shahpura -

(C) Siwana ‘

(D)  Rajsamand

(B)  Question not attempted

TSR 36 et #t sror warer a1 6 R

% e frarng & TR TR 8

PR faredt 2 s g s
A iy

(@)  mEg

(©) foram

(D) Tem=

(B) Safawsr

[ Cor
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17 Which party has won. Banswara Parliamentary
constituency (Rajasthan).in the 2024 Lok Sabha
Election? .

Choose the most npprnpri.n.!é answer from the
options given below: '

(A) Bahujan Samaj Party -

(B) Bhartiya Janta Party

(C) Bharat Adivasi Party . .

(D) Indian National Congress

(E) Question not attempted '

2024 & dw TE R 9@ Y giwamr
() Wedh & @ ey

Frafefae faeed & & waifie sugw s
(A) IEH "R qTel

(B) WRAR =« 9

ey YR Ffeard

(D) e Tvmw =i

(B) i wsr

18 Asumof? 1,800 is divided among A, B, C so
that A gets T of C's share and B gets %- of A's
share. The share of C is:

% 1,800 1 T F A, B 7T C & 30 THW A T
FAsicHyma %MB@A%WW

WTH AT 81 C T 9mr \
N\

(A) 600 (B) 1,000
N

(C) =900 ~(0) 1,200
The process in which the s@lcs of one
u

(E)  Question not attemipted / 37
breed are mated wiyp, lhx for females of

another breed js ¢ . \’
Choose the pypy app%,
Options given be|o

fate answer {10
(2) Inbreeding By Oyt breeding
(©) Backcrossing (D) Cross breeding
(E) Question noy attempted
o e
R i
S 8, gt

faarei ;
(&) S ﬁﬁnufm—q;amu A

(B) «mrwy
(C) Wﬁqm .
oyt (‘azﬁiﬁlﬁm. )

(B) siafuy

19

m the

20  How many parts are there in the stomach of a
camel?
Choosc the mast appropriate answer from the

oplions given below:

(A) Five
(B) One
(C) " Two
(D) Three
(E) Question not attempted
ek S 3 T 1 foraT wrr e 82
Frafafes freredt & @ waifas suge s T3
(A) i .&
@ N
@y QY
© wND

() a
)

VEI % ing from all natural orifices and distress
>

N

mbling is important clinical symptom of which __
of the following diseases?
Choose the most appropriate answer from the
options given below:
(A) Black Quarter
(B) "Hemorrhagic septicemia
(C) Rabies
(D) Anthrax
(E) Question not attempted
ot gl off ¥ WO it e o
Frafafaa ¥ & fFw 1 = ww wegt Yaife
TR 7
Freafitfee et s suges s gy,
(A) =wTEE
LB)- feriiiRen dtefifa
©) W
(D) wHaw

®  srgefrse

L
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22
infection by Q

Foot and mouth disease in cattle is caused due to

Choose the most npprn[{%h‘ answer from lhc

options given below:
(A)  Fungi

N
(BYO Bacteria

(€) Vins (DY™ Prolozoa
(E) Question not attempltd

v ‘W%Wﬁﬁmﬂﬂzﬂm_

‘ brl'zﬁmﬁﬁﬁﬁﬁmmmﬁ
@A) wE - (@R S e
T Ue— e @) m{ﬂm
»(E) :ﬂgaﬂam:
H

- Gmommg of calves is dofto:

HFT

Choosc the most approp%rc answer ﬁom the

options given below:
(A)
(B)
- (©)
(D)

(E) Question not attem

ToI R YRR AL o

Kcep‘thcm clean 8 .
Get fibre 0
Avoid licking NN
Decrease blood cnr&@atxon
d

—D)
(E)

w

ser/was launched in;

24 ‘Project

Choose the most appropriate answer
ions given below:

options given below:

(A) 1973 W 1962

(C) 1968 (M 1970

(E) Question not nmm(pqd

oqry g (VI9E 2% mmcﬁqg‘ﬁ

| fFrefafas fawed i & wqif L)
1973 % (B) |9m i
(C) 19687 (D) 1970%

srgafE w

DEF - B14) @

(E)

om the

.25  Whichofthe fo!lowi%is nota forest andiy }
D »

Choose the \most, afmoprlare answer fron

resource?

options given belows.0)
(A) Protected foreSd
(B) Reserved fore;g
(C)  Unclassed forests
(D) Indigenous forfjm s
(E) Question not aftgmpted .
frerffas § ¥ PR sht s vem;
o o
Prsafefrn Ropedt # -dratfires svgm s
D) - Ry
B)
O Gt
mmﬁmﬁ
;\ (E) aﬁﬂfﬁrw
» ‘. “f" |
26 . Animals whose nunibgts are reducing 10 sk
that they might face Exdinction are knone®
Choose the most appgopriate answer from ¥

options given belowsD
(A) Endemic spec%%
(B) Endangered sbﬁies
(C) Extinct spcciersg

: ' (D)  Susceptible species
(E)  Question notauemplcd (ﬂl’
R i Forreft v A
aﬁm’mmmmm%‘;ﬁﬂ‘ﬁ {}
Prsfoian frat  Qjratferm g
(A)  wnfE wfwie-d ¥
AB)  wHRETRE
(€) Forgw it
(D) weTier nfeat
(E) arafawx

¢
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27  Which of the following statements is not correct
about laterite soil in Rajasthan?

Choose the most appropriate answer from the
options given below:

(A) Tt is formed by the  crystalline and
metamorphic rocks. '

(B)
©)
(D)
(E)  Question not attempted

Frfafas & - e v f e g E
i H el T

Frfafn fawedt § & watfas sagw oo
(A) T&FTIIARE T W TgEt @ = R

(B) e ¥aT YU H wrdht Sirelt R

©&r < i Er efufa & Fnor g8 @@ W

ST R
Oy TR 94T 9 § e g S ) /<
(E) aaf@yy '

Arrange the following dlstncls ol'RnJ asth \
descending order according to th %
(Census 2011): \

Churu XQ

Alwar &;

mmnzt(zouzﬁ

This soil is found in Dungarpur,
It looks red duc to the presence of iron.,

It contains enough quantity of phosphorus.

28

a.
C.
THEAEAF
FATOET) F U FH
g%

-

-

il

Eacaf
fatrdt

b.
d.

a.
c. HAA
Choose the maost appropriate answer from the
options given below:
sfrar fav o, el 1 vrarffirgs gugw SaC A
106 b,c,a,d (B) d,b,cn

(C’ a, bn C,d (')) l), a4, ¢, d

29

31

(E)  Question not attempted / srfdfta 44
DEF-BI14] 3 '

“Vijaya Stambh®”, located in Rajasthan was
constructed by?

Choose the maost appropriate answer from the
options given below:

(A)
(B)
(OF
(D)
(I))  Qucstion not atternpted

weredr 1 fearr fasr wror: w1 fmin fea oo
Raeieigieiy
freafefer famed i

(A) mmm
WeHg fagvl{,,

-(B)

(©)
g '
A

Bappa Rawal
Mahmood Khilji
Rajaraja Chola
Rana Kumbha

ratfirg Iaqm Zat s

hopkeeper sclls an item for T 900 and suffers

x3e}
a loss of 10%. To cam 12% profit, for how much

* should he sell the item?
O gaTER Rt awg @ 2 900 F draw § s
10% Fr oifr et 81 12% wrr i o & R 3

TR Y ey 3 A e

(A) 21,100 (B) 21098
& 1,120 ) T1,112

(E)  Question not attempted / 3rgafte war

Nikhil sold an item for T 1,425 and suffered a logy

of 5%. For how much should he have
eam 10% profit?

Faftrer 3 o ey 5% wift ¥ w405 i

sold it 1o

10% T aifdfr wet ¥ Ry 3ty ag awy frry i
A s i

A) 1,662 (B)  ¥1,638.75

©) 1,642 —tD) 21,650

(n)

Question not attempted / i yy
[ Conta..,
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- (©

33

34

DEF-B14] B

A shopkeeper sold an item for 2 960 after allowing
20% discount on the marked price. What will be
the selling price of the item if he gives only 12%
discount?
@?zmnﬂuqz‘s atﬁmt{\amt 20% Fr gz 3
I T 960 3 dam 7k e Farer 12% P 3 A I
weg v g e war g |
L) T1056 (B)' 7968
T 998 (D) ? 1042

Question not attempted / 373?1&1 wa
i

(E)

In which folk theatre foqn is its artist called ,
{

‘Behrupiya® (Impersonator)? |
Choose the most appropriate answer from the
options given below:

(A) Tamasha (B), ‘Swaang

(C) Gavn (D)‘ Ramavat ‘/(D)' Q !
(E) Question not attcmp'tcd y w N ) !
R e e et e »& . 1a o,
2 : ;’S,N ich of the followmgﬂf!mcls of Rﬂ}”"n
ﬁqﬁﬁiﬂﬁﬁﬁﬁmmm X the highest sex ratio in 'E‘j‘] area accordics®
{A) T ®) wr y census of 20117 ' S
() (Dj" TNET \\ 'Choosc the most app riate answct'ﬁf“ :
(E) Fpaf@asd ,: 4 \, ' options given below: o
. 3 &’V (A) Jhalawar N

Where is the Keolade ?@ National Park (B) Ganganagar \‘3

located? ~ ' % ' (©) Pali <

Choose the ast%ﬂatc answer from (he (D) Jaipur Q

options givch. (E)  Question not attempted

(A) Udaipur
(C) Sawai Madhopur(Q
(E) Question not attem ted
a—.aar%aumngﬁnaanamfﬁwﬁ'z

P e o s g e
) AL 4Bf:

© wadwmii (D) HEg

(l% Bharatpur

Dholpur

45  Which fort of Rajasthan was rcl'crredb F

*Sccond Gibraltar of lhgc-)a/nrld ? ih

Choosc the: most nppr(rﬂlnlc answer ('Cn ,

options given below: O T |
w0

»

' (A) Junagarh -
(B) Nahargarh <]

‘ (C) Mchrangarh o ‘
(D) Taragarh (Ajmer) : ;
(E)  Question not attefnpted ’ ;
W%mﬁsﬁfﬁ*@awmfﬁm ‘,
AT 87 N }
ﬁqﬁfﬁgaamﬁaéﬁrmmm !
(A) e ~q1 3

'(B) W{’\ <

PP —

ZOIl?ﬁWmi‘ﬁ Wkﬁ"ﬁm
ﬁrémmxﬁvr

() STgaRawy

ﬁwﬁ:ﬂaaﬁmﬁﬁﬁﬁdfﬁmm“@
(A) womars ‘__'

(B) TMET® <

4e) urh o

(D) g

(B) igafmuxn

IC’W
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In which of the following arcas of Rajasthan, | 40 Which famous temple was constructed by the
Salar forest is not found? 3 th
N ————— legendary Bappa Rawal in the 8" century?
options given below: Choosc the most appropriate answer from the
(A Ajmer QB Udaipur options given below:
(©) Jnisalmcrm (D)  Pali (A) Rishabhadev temple
(F)  Question Ad¢ attempied (B) Eklingji temple
ﬁw%rmﬁmz%&é;m ¥ v = g (C)  Shrinathji temple
I <t (D) Jagdish temple
frsfafag faesdiA imaffha:avg?ﬁm ‘g‘?t (E)  Question not attempted
(A) IR o ® T geff YT # o yaer o fRA afa S
ACY ¥ S (D) ueh fifor Famar T
(E) aﬁﬁfm’g Frefifaa faedt 3 § gt s9ge S0 -
Which of the fol}c?wing trees is not found in the - WW‘Q
tropical thom for&ils of Rajasthan? ) &5 %%5
Choose the mosgppropriau’ answer from the © m \
options given below: (D) et
(A) Bamboo ¢y (B) - Rohira (E) ' b
(C) Kheji OO (D) Bair ’& '
€) Question \ attempted 4 inless steel is made by mixing iron with
g & o7 TR %W a. Carbon ;| b.  Nickel and chromium
quqﬁ'ﬂ'{sﬂﬁ" \ c. Magnesmm d. Manganese
ﬁq%i:@ﬁmﬁﬂwm 7 %,, Choose the mast appropriate answer from the
e am 0”"”"' options given below:
©) \ (A) 'a,bariddonly (B) a,bandconly
(E) 313?#(3’910 ’ \/‘\ © be an:d %i only (D) a,candd only
Q. o (E) - Question not attempted E
Name the fort big) by Mabafaj Surajmal in 1733- R i i i i ¥ e e s

Choose the mogeappropriate answer from the
options given beldW:

(A) Gagron f§°  (B) Jalore fort

(C) Lohgarh fort (D) Churu fort

(E) Qucslionm attempted

1733 5 HERTS T fafifa e 8-
frefafaa { & Fraffie sugw ST
(A) MRAFFED  (B) e e

<y aﬁmﬁmﬂ (D) & fowem

(E) Nﬂﬂftﬁv&,

’ DEF-B14] 8

B

a FE b ke sy
‘e Afifiem 4. S

"1 Ry P o & s |
(A) Fasta,baltd TS
@) aﬂﬂu.biﬂkc
—8)  Famrop, ¢ 3ivd
O) Ferq, caded
(B)  sryafer war
9
lComd‘_‘
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43 In which of the following arcas of Rajasthan the

When vincgar is added to baking soda a gas is
liberated which when passed through lime water
makes it milky. The gas is:
Choose the most appropriate answer from the
options given below: ,
(A) . Nitrogen (B) ~ Hydrogen
(C) Oxygen (D) Carbon dioxide
(E) Question not attempted
v Afen drer # Rt Fremar s ¥ @ @ W
fremerdt < < 35 et 2 e i S o SER
P FIAN IR
Frafaftas et o ¥ waifars svgw s g
A ®) TR
(E) Iawxr

-

desert soil is not found?-+ -
Choose. the most appropHate answer from the
options given below:

(A) Kota B) Churu
(C) Nagaur (D) ' Jodhpur
(E) Question not attempted :
T FrefaRaa 13 e @ =
Fr=frfae et i & Sﬁ'ﬁ%m =+
S w %
© =k Q» .
E® SgazK A )

@ Which one offighe following wild life sanctuaries

is not located in Rajasthan?
Choose the most appropriate answer from the
options given below: :

,(A) Ram Sagar (B) Ramgarh Vishdhari
(C) Bhensroadgarh (D) Bhimgarh, .
(E) Question not attempted

Fresfafie 3 aeram s ST Yooy

45

:\ Frafafaa freredt § & waffire syge sy

Which of the following statements jg "°L'cc’.‘
' . . ™

about the climate of Rajasthan?

Choose the ifdst appropriate answer s 5‘

options given below:

|
iR
|

’

(A) The ‘western desert  reccives Mitimy
~ rainfall with annual average of 25 ¢y

(B) The .-average rainfall is not hl'&b'.i: "
. Rajasthan because it is located ia g
interior part. '

(C) The extension of Aravalli rag &
perpendifular to monsoon winds. -

@ In wi little amount of rainfall 3:-
| régeived through mavath, :

“(E 7 estion not attemptéd B

R 3 - o T R Jj‘
pb{ FEF 82

)

R AT wardy g ot s R |
fde ofea 25 A f
v st aaf st 7l & wEW |

}
4
4]
(A) '

®)

e

]
H

Haad gl g
Xt g 3 Aras & Wi aat ywa Il A
TFalE wor

(D)
(E)

£
{
<
. ' i
46  Which of the following is not an alloy? {
Choose the most appropriate answer from &¢ g
options given below: Q
(A) Stainless steel (B) Mercury f ‘
(C) Brass (D) Bronze {
(E) Question not attempted i
ﬁwf%tm&&ahw.m&mrgw%? !
PreefRee freresi 4 rartfirs qugm s |
A) BRmedy By Tt
© A= (D) wiEw

TE .
ﬁq%rﬁmﬁwaﬁﬁﬂwuffbwswgm !
L (B) mﬁ:zmmﬁ
©) Satemg p) g
(E) yfaan /\

DEF-B14 | 3

10

(B) aryafergs

10 I Contd~
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47  Which of the following non metal is a conductor

50 “Ranc Jagpat ra Marasya” was written to moumn
of electricity?
Choose the rost appropria ’(; the death of- :
options given below: answer from the Ch(')osc l.hc most appropriate answer from the
(A) Todine (B) Sulphur oplions given belo‘w:
(C)  Graphite ([)) 'Coal (A)  Rao Indsa,Singh
(E)  Question no Rllempted (B) Mnhara;i%}(umbha
ﬁqf‘af‘@ﬁq% (C) Maharah@Jagat Singh
f-'n:.i“aﬁgaﬁm QT d E 6 e ¥ D) Sant Ndmidicv Ji
(A)  JEREE ] (B) W W?{—! (E) Qucsllongr]olattcmptcd
0 T () W "tr?tmqaum Forereh e o1 2t Wohe o R
€ gEiayy S f‘?mf’a@rrrwo
Frefafes famedi 4 @ Waffiﬁn—mmm
48 To remove famlghcl"dness defect of eye we use Al WF&T‘
spectacles fitted with; © FU"@) qumaa-ﬁ
Choose the most @ppropriate answer from the (E) :ﬂqakﬁ
options given beloWs : N
(A) Convcxo-CJ%ﬂave 51 *Jeen l%ﬁtxﬂm cight armed goddess is
(2) Concave lens consig e mcamanon of which Goddess?
© Cfmvex lens x&hc mdst appropriate answer from the
(D) Bifocal lcns % S given below
(E)\ Question no %Rempted M Saraswan (B) Durga
5’73’"3@%3\"1@ ?ﬁ%mmﬁqﬁqaﬁ\ © Lakshufgg (D) Gavatg
yatn
T T ey N (B
<\ : \ Questiomyot attempted
fﬁ%ﬁaﬁﬁﬁﬁnﬁwﬁ%w@ ' ;E*m%?ﬂ ST %aéa‘mrmqmm
(A) FTEIERE S Sy 3
(B) sERASERY ,,0 _ I ¥ waifre
—©) mm;b \ ' ﬁﬁ . TG I G-
. @) @~
D) REwddas A \}v (©) ag:q‘]»
(E) Fuf@ys © (E) ©) o)
3 c Mg?rﬂ-qﬁ?,r ;
49 Which di : : fen i
::’;J:: :;zg;ct o;‘ 6O Rajasthan is spoken in the | 52 Tct=J festwaFS} Rajasthan s .cclcb .
iy b uru month of - N rated in tht:
oose the most appropriate answer from the " Choo
options given bclorer 0 o O "8 appropriare answ
(A) Had s ( Plions given gow: e from the
oli QO (B) Wagadi A) p
© Malawi (D)  Shekhawati - (©) C?f‘.g"'g ®) Shmvan
(E)  Question nopajtempted (E) fiten (D) Kartjk
TSHIT o R 8 Xt Sty siyeft st & Q:;S;‘I::@O%i;lcmpled
el B9 Haffba,-:mga;m . g R T 3 gy
A) = N (B) ‘ﬂ-} (A) ﬁamffaﬁm ST &2
© warh ‘9'630‘ ﬂ@ﬁn‘é’r ©) ;':H 0 %7/'"3‘7? mﬂi
(E) ﬂgﬂﬁaw (E) ~ D) ik
DEF.p14) 8 O i %g
[ Congq

1
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To which area of Rajasthan does Shree Lal Jog;

Scanned with CamScanner

tm

A3

- .
oLt T,

s pad

<

A

Bt

BTEIERT S K PRSI T IR LY Ve

: i Kartik | 55
53 Where s the Kapil Muni fair held on a Phad artist belong ?
Poomnima? Choose the most appropriate answer from (s,
Choose the most appropriafe answer from the options given below: ¥ '
options given below: (/c\)) «2hillwa.m Eg)) .!lén;:ur
. ( 1alawar ota
(,A) Rewes In S'km_ (E) Question not attempted
~ (B)  Chaksu in Jaipur TR T 2} AT SR T T U % g
(C) Kolayat in Bikancr DE R AY]
(D) . Diggipuri in Tonk .(A’)"I yerferfiae freredt 3 9 (“B; IR
(E) Question not attempted (C) TS (D) 17 ' '
afites bt 0 wfiver s o et < €2 () ¥gafaud
frerffrs Reedt f @ walfde g9ges ; N
- N = Wﬂ* 56 Keoladev National Park is famous for
) ) FRRTIRS Choose the mo@prcpn’zﬂe answer from the
(B) ARAARY options given(BBlow:
/(c;‘ mam ). (A) Ele feonservation
®) Jwiferfgd B A Wepervation
k. ' (C) tory birds -
(E) faf@wx : ion conservation
,\* Question not attempted s
54 The articlg of Jewellery called “Borla” i wm———%mm%‘
neeoreveley orla”is wor, "b. frefefiaa fraredl & @ watfirs 39ge I
the Rajasthani women in ____ . (A) « Eneft s ® = >
Choose the most appropriate answer N{hc wey -arrwfigt () Riw @O @
options given below: ) \ . (E) orguiaws
(A) Neck - . 1 \’ T o—
: ' 57) *Chipko” movement in Himalayan région was
(B) Ankle ‘0 : held to resist against .
© Wrist ‘4 Choose the most appropriate answer from the.
(D) Head A \\; , z:t)lon; giy:n below:
oad ¢ ion in hi .
(E) Questior o::hmpted (@) Huminznsmmhon in hilly regions
“SRET qW T B TeRAT BfEamei T (C) Cutting of trees
_ Hvgqemard ; (D)  Over exploitation of forest resources
Preser et 2 s s e ) dusstion o aitempred "
pey : . hﬁ‘qaa-n m
a) e Frez wfin s g R ——
' freferfa o o
(B) ‘T ) ﬁg:i‘ﬁﬁ#wffbmmmﬁi
(© J ®) m"'g' % ws fmfor
Lo & W
(E) 3rgaRawa o T WAL %57 7fy e
DEF-B14] @ i TR
|Contd.-



Name the Hindu Saint, also worshipped by
muslims as “Ramsa Peer”,

Choosc the mast uppropnam :ms“cr from
options given below: '
(A) Ramdevji (B)
(C) Devanarayanji (D)
(E)

Mehaji Manglia
Malli,nathji
Question not attempted ‘

mﬁzwwmﬁﬁgﬁ%ﬂmﬁ mw.%mq

‘ﬁﬁb
ﬁﬁﬁrf:@?ﬁmﬁﬁﬁwaﬁhaqgmmgﬁ
—A) TR ®) rgwht sy
(©) @ mmvet (D) wReEst
(E) 3gaf@us

59
the mother of a new born daughter?
Choose the most appropriate answer from
options given below::
(A) Orange (B)
© ®)
_ (E) Question not attempted
i AT AT 1 AT a1 for T T i fear
ﬁw%f‘aaﬁﬁﬁ%mﬁﬁwwi

i %ﬁzﬂ

To which family o@ instruments does

(E) Eaiayd
‘Shahnai’ belong?

Choose the most appropriate answer from

Pink

Yellow Lavender

options given below:

(A) Sushir

(C) Beat

(E) Question not attcmpted

e St & fore aREr @ wefa 22

ﬁqﬁ?ﬁﬂﬁﬁmﬁﬁwﬁﬁmmm?
YAy gim (B) <=

(C) e (D) Gl

(E) :wgaﬂaw .
EDEF- Bl4) @

(B) Dhol
(D) Barrel

What is the colour of the ‘Pomcha’ presented to

the | 61

the

62

the

63

the

the

13

13

In which year was the “Mewar Praja Mandal’

established in Udaipur?

Choose the most.appropriate answer from the '

options given below:

I 5 AT T AT & w1 5 837

Freaffiae fireedi 1 & waifirs s7g™ ST
(A) 1940 (B) 1937
(© 1938 (D) 1939

(E) Qucstion not attempted / :ﬂgﬁfﬁf sy

The integration of the Ra)pumna into present day

- Rajasthan was coq&d in how many stages?

Cboosc the m¢§1

ropriate answer from the

© 3 (D) 4.
(E) Question not attempted / 7Taia T

Which famous personality of Rajasthan is also
known as “Banasur Ka Shaheed™?

Choose the most appropriate answer from the

options given below:

(A) Major Somnath Sharma

(B)  Major Shaitan Singh

(C) - Lt Gen. Nathu Singh

(D) Lt Gen. Sagat Singh .

(E) * Question not attempted

TSR & firr witrg afime 2y AT T 1l
Mt T ST

Frerforfern forarect 3 3 W Suge S,

20 WWW(B) eﬁﬂﬂaﬁﬁi’g

© % wmmfie ©) A,

. |
(E)  rpufawy R

[ Conta...
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64  Match List-1with List-1l,
List-1 List-11
a. Non-mctal used in . Graphite:
acid, gun- ;\Q\_\:dcr
and mcdlcu‘p
b. Non-metal used 1. Mercury

. d{i
in clectro 4

c. Mectal used fm- 11]. Sulphur
clectronic ir(xi(,mmcms

and wires Q)

d. Metul uscd({;t({; | 1V. Copper
thcn'nometéro e

‘w.x%muéﬁlmmml

a1 c" w11

a Wﬂﬂ%@t L TERE
Sfaftt & STam N s
s oy

b. mﬁzﬁnﬁm} IL nta:i’r(t'm)
awa‘?amg'ﬁ' /<

c. Wﬁmswﬁsﬁt L H '
midsEm ST \\ |
= AN

o, widiTit zﬁaﬁ X
arelt urg \o

Choose the m

options given

xl;s e answer from the
o

12 feg e e & vt g v
(A a-LLbelLc-1,d-1V

®) a-Lb-fMc-1v,d-11

.ﬁ‘( a-1L,bALY,c-1,d- I
PF a-, bg}:c-l'v i

(E)  Questiofndt attempted / SRlin)
wr
DEF-B14) 8

14

65

14

Which of the following non-metal reacts Wi‘-‘\%\
cunccntmlcd nitric acid (HNO;)?

Choose the most appropriate answer from mJ”‘
options givempelow: :;
(A) lodi}(é’o | ;
(B) Phosphprus |
© Carbbp ;» ;
(D) Sulphtg ;
(E) Quesfioh not attempted %
Prafafaa ?:) { A Y VR TELE 73
(I{N03)%t{lyaaﬁrmm% i
ﬁﬁ%ﬁﬁaﬁ%aﬁﬁawﬁfbmmmm :
(B) wEwrd £
) q‘ \ : 3
© _W'T‘h'o {\ '

v\ywauc(fgxon is part of which of !b‘
wing p\'xﬁ\ographxc division of Rajastbzn? - :*
Choosc the,\tpost appropriate answer from ‘5‘
options gwé'-'bclow

@A)
(8)
©

2w

4

Eastern plains region , :

i

Westéf desert plains region ;

Semi%id region . *
(D) Arav§llf region 4
(€ .Quesg_(_a‘n not attempted
YA AT ¥ el § f*a‘\
TR fordrom vt v 2 L
mmﬁm&ammmw?
W) g
®) RO darh &

uer snt-flam

(D) STUaRRRT
W@w

g mmyg St
BUTETANEN

4 l

l

F oL

i
)
'
‘
v
.
i

[ Contd~ .
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69

In which of the following areas of Rajasthan,
black soil is found?

Choose the most appropriate answer from the
options given below:

(A)  Churu (B)  Jhalawar

(C) Jaisalmer (D) Bikaner

(E)  Question not attempted .
e & frafefaa § 3 g 8 3 rel) wya rd
St 2 :

A few e farered F Q waw 3oy s

A TF BT TS

(C) Srwex (D) sfEmT

(E) vgafawer

In Rajasthan (SEZ) special economic zone for
handicrafts has been established at:

Choose the most appropriate answer from the
options given below: ;

(A) Sitapura (B) Bhiwadi
(C) Bhilwara (D) Boranada
(E)  Question not attempted -
T F weatored & fordl fdy anfifes &
F‘TWTW%:
Fefafaa faeredt § @ waffie sugw gmgh:
A7 Hiarga B) faErE
© iteEre (D) W\}
(B)  rgefa s \‘.7..,

Shri Award

Who has been awarded thn%:

2024 from Rajasthan in ﬂ:@: of social work?
Choose the most .approPeiate answer from the
optlions given OWS

(A) Mr. Janki\Lal

(B) Ms. Maya Tandon

(©) Mr. Kumar Manglam Birla

(D)  Mr. Laxman Bhatt Tailang

(E)  Question not attempted

TSR & WrTfores & &0 3 wenft qre, 2024
? R e famar mam
ﬁqﬁ?ﬁaﬁ?ﬁfﬁ%mﬂwmmg}:
(A) "4t ST s

B) Wt wmaT e

(©) it g e fger

(D) =it wresaor wg AT

(B)  Sruiawx

"Bl4) g | - 15

70

71

‘T%

Match List-I with List-II..

List-I List-IT
(Project/festival) (Place)

a. National park I.  Jaisalmer

b. Desert festival II. Sambhar Lake
c. Ramsar site I1I. Ranthambore
d. Braj Holi IV. Bharatpur
-1 % w11 31 fram fika

-1 Fet-11
@RaAT/RR)  (FuT)

a. URqurdh I et
b. 5 HiReas II. PR
c. UTEIEISA » 1. Wit

d. Eﬁrﬁt«ﬁ(\\ IV. W@

Choose 15; Most appropriate answer from the
optiofis, givén below: :

G I waffs soge swoa:
a-ILb-IlI,c-I,d-1V

) a-Lb-Ilc-1,d-IV
a-I,b-Lec-1I,d-IV
a-Lb-Il,c-II,d-IV

Question not attempted / e W

Which of the following cultural/ tourism events
in Rajasthan will appear first in the year (English
Calendar, 2025)?

Choose the most appropriate answer from the
options given below:

(A) 'Braj Holi festival

(B) Camel festival

(©)  Kite festival _
(D)  Baneshwar fair .

(E) ' Question not attempted

TSR A 2025 (mm%mﬁwﬁ

A g
iy mmmm/mwmm
'E""?lbaﬁwz‘fﬁwﬁbwm
(&) 31 Bt weveera (B) hmmiﬁ‘
ACT winwgw (D) TN ey
E)  Srgmfawr
[ Contg.,,,
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73

Which of the following techniques is suitable for

the disposal of bio-medical waste?

Choose the most appropriate answer from the
options given below:

(A) Gnkincration

(B) (CRD_msc

©  Fnasin *

(D) Disposal in running water

(E) g\:cslion not attempted

Frerforfre 3 & -1 el - Refrcefta amefine
* oo & Ry e &7
Fﬁﬁ{@ﬁﬁww‘?ﬁﬁwﬂf%mmgﬁ
(A) lwﬁm
(B) ag:am&q

L SpErwsReer
(D) é@ it § e
(E) STaf@uy
Q0
™

Strcptbﬁycm tetracycline and erythromycin.

the ex@plcs of-
Choodethe most appropriate answer Nthe

options given below: \}

A) Qthna

© wubloncs (D) é\vntwcs

csuon not zmc

e

ﬁ:if%%aﬁmi’rémﬁawwgmmgﬁ

(A) gm/sﬁarg

(B) @ret (aforadt)

ey Tt ()

(D) ‘.

(E) @mm

DEF - 314‘138

16

74

Which' of the " following are the exafples 0!“ |
i
communicable discases? }(
]
a. Chicken pox ; "
P,
b. Cancer f '
CEY b ‘/ 2 ‘
c. Tuberculgsjs 4 i i
d. Diabetes & : 7

c.  Choalera \O

Choose the mn,{‘,uppmpn‘alc answer from the | 14

options given bEldw:

(A) bandd og:ly (B) a,dandeonly

(C) a,bandconly (D) a,candeonly

(E) QuestionXigt attempted .

Fr=fafaa & & B3 @ ITF e
i .

b. &m (e, =y

c. wifdm > S

d. QLT ‘

» &vmﬁw—%ﬁﬁwﬂbﬁmmgﬁ

’&(A) FaabaAEll  (B) Faera dafite

&

©) %a’a'a, g'( '%ﬁa’a,csﬁte
(B)  37wiea war

‘Divide 2 1,727Gnlo 3 parts so that their amount
- after 3, 4 and 5gysars respectively may beequal.

the rate of inter&being 5% per annum at simple

interest, The second pa is:
zon partis;

R 1,727 < i v v wifew 6 5% TRE

HIURCT =Tt 2T 0 s 3, 4 Tt 5 af QAW YW

nﬁrqtmﬁ\ zgrrwr%:
(A) T600 &
(B) 690 0
C AN
(C) 552 m
2 575

(E) Qucsnonﬁt attempted / N‘ﬁm w
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On simple interest certain sum of money amounts

%) 79 Match List-I with List-IL.
— 0¥ 18,130 in 6 ycars and to X 20,090 in 8 years. List-1 List-I1
Find the rate of interest. a. Phenotype I.  Genelic constitution
(mnmm‘l‘(gﬂmﬂﬁl()ﬁﬁ'\' 18,130 Y A b. Gene Il.  External appearance
daw ST HT 20'090?:1m?ﬁ%\(|h%;mﬁamﬁl Genotype I t expressed in Fl
/(m/ 8. 8% (B) 6% | galcration
© 1% (D) % d. Rlcccssllvc V. &_Jctortlhat controls a
. character character
: (E)  Question not altempted /.3TaRa wsr -1
B fq‘ -1 % e g1 mrﬁma_ﬁﬁf‘am
f§17 Mendel performed hybridizatfon experiments on “EPH o '_" .
| olants 3. TAEVINET I el
Ch the miost appropriat fi b. S IL ’GT:H
C (1 T on - ~
i ppropriafzanswer from the c. SFVEY 1L G i i sfireres T
options given below: Q2 RN
- o L oEm
(A) Onion ) d. mw : Sy 1 fredt srpor
(B) Tomato 1 < 9, égma&ﬁﬁﬁam%
(©) Rose =t Choose t appropgiate answer from the
(D) Garden pea optioms,gixen below:
(E) Questionnot attempted % ﬁm?ﬁﬁwa@a;:mgmmgﬁ:
EESER Uit % e Rea (A),a-1,b-1I, c-HI,dSTV -
.ﬁw%%af&ﬁﬁﬁwaﬁbﬁammiﬁ/{\ ‘w a-1,b-V,e-1Ld2
(A) = CCS N © a-Lb-Mc-T,&gfV
(B) WX —_ \ (D) a-rv:b-_m.c-n.,d.ful
© TEm <t ) \ (E) Question not zmemﬁé / TR Wt
T (e O .
/g b s Y 80  The Bhakna N:mgal Project is a joint venture of
A pé which of the following grquy of states?
75 ) . A Choose the most appropgiate answer from the
Which of the fo &) heterozygous options given below: )
alleles? ' | (A)  Punjab, Rajasthan, Otfar Pradesh
Choose the most appropriaté (inswer from the (B) Haryana, Punjab, R}l) than
options given below: i (©)  Haryana, Himachal Pradesh, Punjab
(A) BothTT and 1t (B) g (D) Rajasthan, Haryanagttar Pradesh
(€ n ® T (B)  Question not attempted
(E)  Question not attempted W AT ST ﬁ“gﬁﬁ B R Tt
Pefofar § & @ P | e do ey
et 2 ﬁq%ﬂaaﬁmﬁﬁaw@wm
e ; - (A) s, wrrear, e gy
W) TTokudd @ 9 ST, T
: ) I (©) sfeaon, fomerer sy
© u A4BY g (D) . TrRYm, m:@n
® sgahass o (B)  sryufe wx
[ Conegq,,
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81 - \Which one of the following water dam projects is
not associated with Rajasthan?
Choose the most appropriate answer from the
options given below!
(A)
B)
©
D)
(E)
freffae 3 & Row o et attw-aReowT 1 ga
ToreyT A {7
Frerfefrer Rreredt 3 & watfre augew segh:
(A) gAY afEsET
s_B8y e =ty af@isEr
(C) wmaEw Ty wiEeET
(D) ~ WraTdET A afEeEr
() SgaRaws

Panchna dam projcct
Sidhmukh dam project
Jakham dam project
Matatila dam project

Question not attempted

82 - Pichola lake is located at which placc, in

Rajasthan?

(A) Bikaner 4\>
Kota . 0\”

(B)
Udaipur #

>

(D) A AL ‘
AR Rya 7

Jaipur
(E) Question not
e e Torar
(A) =T

(B) Fer
| el
(D) AR

(E) oigufawx
iF-Bl4] 8

18

4

83

18

Match List-I with List-11,

List-I List-I1

(Farm animals (Cnused by)

discase)

a. . Anthrax 1. Protozoa

b. Cowpox II. Hypocal¢emia

c. Coccidiosis II. Bacterin

d.  Milk fevée’ V. Virus !

-1 3% wrg -1 7 firarm Hiim

-1 B |

@A FagN FIM @FEH)

a. WHAw . WS

b. TR 1, et
(FTHITE) .. o

c. wEfEiE ey (radifan

d. fremdrar 6 It fargoy @maTE)
oo O

ropriate answer from the

. optionsgiv Below: .

:ﬁ?}{é\ # X watfira 3gge IO

m,b-I,c-1V,d-1I

<‘§?-H,b-ln,c-lv,d-[
y

a-IL,b-TV,c-1,d-11
a-Lb-IM,c-II,d-TV
Question not attgmpted/&ﬁﬁﬁﬂ‘ s

)
D)
(E)

Approximate age of sexual maturity of buffslo
bullis ___

Choose the most appropriate answer from the
options given below:

(A) 20 months (B) 22 months

© (D) 15 months

(E)  Question not attempted

wis-ﬁﬁzﬁr?ﬂwqﬂvm?ﬁwﬂ“ﬂ

18 months

Bt R
PR faevedi o 4 et e S
(A) 207 5 22WE
(©) 189w (D) 15¥E
(E) Iafams
lCnn“’"‘
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"y " v 1 i ni .-s
g W hich of the following is not g component of | 87  The percentage of total solids in cow milk 1 |
teretd .? .
bio-gas approximately -

Choose the most appropriate answer from the T g i wqet 3 o Wl ™ —
options given below: ‘

Oxygen (O e 2 )
l“:) Cl\l) g(r\‘l (ll 2 C Choose the most appropriateanswer from the
cthy
UC) C'\ri)un di ‘ ‘.l":) Cco < options given below: (00) )
il N mmﬁaﬁiﬁﬂwﬁb%zmmgm
(D) Hydrogen Sulphide (l[zsf)‘\l /(7'0/ 1559 ® 5%
() Question not attempted ‘\D' o 5'2;.,/0 i i
ﬁﬂi%{ﬁaﬁ X 3 = 870 /0
mgﬁgmﬁwgh (E) Question not attem ptc&%ﬂjﬂﬁﬁ a4
ITGH I _
XY STENH (0,) ‘ - ) o)
®) == (CcH,) ' 88  ‘Operation Flood' is related tpny
©) H?ﬁf‘-?gﬁ:}}iimﬁ‘g(co )O Choose the most appropriafganswer from the
(D) Eliélaﬁmm S)2 o0 options given below;# f‘g
2 : .
(E) - S wH UN;, | @A) ol ¢ ,\B) iyl
’ | (C) fish {f} A (D) wypter
8 Which of the following Pashu Melas are (E) Q@Nr*@ancmptcﬂ
conducted in Jhalrapatan of Jhalawar in ) ’ (A o )
Rajasthan? L f forereril 3 & WA 9Ug ITCEA:
2 Shri Baldeva Pashu Melgy )Y _mr @
b.  Gomti Sagar Pashu Mela'(y A "&C) T © FFd
c.  Shri Ramdev Pashu Mel§N \, (E) STaf@wH :3
d.  Shri Chandrabhaga thb‘ﬁiela \ =

. Shri Veer Tejaji PashuMeja \5{ 89 A shopkeeper allows successjve discounts of
Choose the most appropriate@p%ﬂ‘p the 15% and 10% on every item. He allowed an
additional discount to his friend. His friend paid
(A) aandconly (B) d c only

options given below: - p.
m& X 2,907 for an item marked fgER 4,000. Find the
(C) c¢,dandeonl '*‘(D\\;Ersi d only

percentage of additional disgOunt given to the
(E) Question no tte%tcd (o ») 53 friend, N
. O .
TR 3§ Frearg e "/hﬂ! 10% Y iy

AR, e T MR Weld 9% 9T 15
N - ”f;a;;lam"’;m"i'ﬁ“‘ gl T 3 IW o B A o iften = @

: N Sifer wr 7 4,000 H TP

b, T EmR gy e < Tz,907w13a¥ﬁ?§i’tﬁ§gﬁ1§ﬁﬁ%

c. aﬁm&aqﬂﬁmi iR wa ity N ) e

™ ot T A o ' (A) 4% o

e. AdIRATIN &S ' (B) % o0

Y g e st @ waHRHEYEE IS © N

(A) Fatasiic (B) Wfda,bafe T 0

(©) %aacdame/wr‘arﬁﬁbaﬁtd =214 "

' \ (E)  Question notatte

(B) TR w wy N ““"@wa

DEF. B14 a ' o 19 .
19
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vely 30% and 40% of

cti
numbers arc respe
¢ the first

Two )
* ber. \What percentage i

the third pum

70%
Question not atterpted / :Wﬂﬂfm ax

A 15 TF!
Three bells ring at intervals of 9 minutcs,
rminutes and 15 minutes respectively. If they start
ther at the same time, after how much

(D)
(E)

91 12

ringing toge
time will'lhcy next ring together?,, |,

(A) 3hours (B) 1 hour 50 min
(C) 2hours (D) 2 hours 30 min

(E) Question not attempted

i wfeat wam:9 fime, 12 fre aur 15 e &
e W et 81 afE 3 T WY O 9w W
e g el & 4 sveh At e w3 W O

Sk 3R
(C) 2

€ g

Three numbers are in theratio 3 : 42 6 gn@

HCF is 9. The LCM of the number ig:
drdemd3:4: 6% U
2T EANFTLCM & \

(A) 324 . AB

() 540 108

(E) Questionnota ipted / a7zl war
The HCF 0f 13,5, 0.9 and 12 is:

13.5, 0.9 7T 12 %1 HCF (W&UH HIYadaR) 3
(A) 54 A 03 |
(C) 1.08 o) 3
(E)  Question not attempted /

@B) 19IsofEe

92

. 93

() 2d230fiFe 4

A

924

95

DEF-B14) @ IR et

20

20

- options give

the14'™ Hockey Indja Junior

Who isthe captain of
hip 2024 foy*Hockey

Men's National Champions

Rajasthan’ tcam? |
)
Choose the most appropriate answer from the

n below: /

Meena Mohit

(A) /
(B) Kamalkant !
(C) Gurjar Sachin Singh

(D) Himanshu Kumar Meena

(E) Qﬁcstion not attempted

14€rgmrrd,m1ﬁutﬁzﬁcaﬁzmﬁmzoz4ﬁ~im

Prefrfia Rt # & @aifs I9g® IR

In yﬁ@ﬁ:e did Annu Rani win the gold med]

options given below:

¢ x& sian Games 20237
Qb} ose the most appropriate answer from the

(A) Shooting
- (B) Wrestling
(C) - Javelin Throw
(D) Discus Throw
(E) Question not attempted

a4 2023 *!ﬁw@@ﬁiimw&mmi
T 9geh Sfam "

FreafRifas faenedt § & wartfores awge sE:
(A) P e 18

(B) T

(C) viren ¥

(D) fewmm i

(E) ryafeawxy

[ Contd...
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0p I Rajasthan  under  the, “Mukhyamantri | 98 In  Pre-Matric scholarship for OBCs the
Ayushman Durghatnn Bima Yojana", the amount expenditure is shared between Center and state in
paid by the government, in case of death of more the ratio of: '
than onc family member in an accident is: Choosc the most appropriate answer from the
Choose the maost appropriate answer from the options given below:
options given below: ' (A) 100% state sponsorcd scheme
(A) T20Lac - ‘. (B) 70:30
(B) ISLac © 50:50
(D) 100% centre sponsored scheme
(C) T10Lac
D) %25 Lac (E)  Question not z}ucmptcd _
S ar=y ferrgy i & el Bfye o oErfe 3 =
(E)  Question not attempted . ST 3 A T TR a2
TreT F gt e AT dint AT, % ﬁ"ﬁ Y Foges I
st fod e o & R SRR AT | 100%ma§$
7 W 2 T fe 82 ® 7030 7 |
Frefirfiaa foredit § & warHfives Suge S g e W/ N
(A) T20@@ (D) f%é%fzmm
®) Ts¥m@ () 6‘%?« we
A€ R10wm@ ¢ \, ,
D) 25wm@ (&’aﬁm average of the numbers K,(K+7),7,9,12,
€) 313?!?(?[3(’3 : ’ 15 and (2K + 1) is 9, then what is the value of
‘ , %y (K%?L 1)?
91  According to Rajasthan budget 4‘?3\(3 : aR¥EMK, (K+7),7,9,12, 15TIQK + Ly
. : NS;% g 9 ®, A (K2 + 1) T W T 22
February 2024) which of the fol@ ount eS, 26 ® 5
bond is proposed 1o be givenﬁ isls through @ 10 ©) 17
‘Lado Protsaban YojnaZ \\,' (E) Question not attempted /aigaﬁa asr
Choose the most a@tt answer from the
options given below: : 100  Anitem was sold ata profit of 15%. Ifits cost had
Torear wwE 2024-25 (8 FEH 2024) F W been 5% less and it had been sold for T 258 |
et e AT & it @ o F ¥ the profit would have been 12%. Find the ess,
ﬁ»ﬁ?!@!ﬂm% wRiE 32 price of the item. ' St
e el # & Walfers ugw saC T T TR H ‘S%W“hm'ﬁmmm
(A) ¥2,00,000 2k 5% S BT AUT AR T ZSSWWE‘(:&@MR\T;W
(B) 50,000 12% BT Tl 76 T4 YTy
(C) ¥1,00,000 (A) RT2,940 ®) T3,200
(Dy 71,50,000 (©) 3,120 AT 3,000
(E) Question not attempted / aryafta w4 (E)  Question not attempted / e wey
PER-B14] B 2l ' [ Contq,
21
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\Which fort in Rajasthan was called the armoured | 104 Name the folk deity of Rajasthan known as ¢

101
fort (Bakhtarband Durg) by Abul Fajal? God of camels-
Choose the most appropriate answer from the Choose the most appropriate answer from
options given below: options given below:
(A) Taragarth (B) Kumbhalgarh (A) Mallinathji (B)  Gogaji
(C) Nahargarh (D) Rnnlhumborc ) (C). TcJﬂJ, - (D) Pabuji
(E) Qimxtion not attempted (E) Qucsuon not attempted
mm%mﬁmmﬁﬁaﬁm memmm%m%mq
foren TR _ _ ST By
ﬁqﬁa@m‘fﬁﬁwﬁwrﬂtgﬁmﬂ* Wﬁqﬂﬁ%mmm:ﬁ
) @) FETE A
R (A) tfeaTrsh (B)
© TEgw D) :att A <Dy Tt
() gsfaun : (C) ) S
FgaiE war .
102 . What atcliya, Bichhiyo and Lalar? -
y m@ y Yo an T ’@ \Vhlcﬂngcnrc of Rajasthani lnerumrc is just Ii

Choosc \thy most appropriate answer, from the

options g¥en below: . ) i - (ellmg_apd hstemng to a story?

(A)  FBI musical lnstrumem'sm ' Chooic ethe most apgroprlate answer from t
B) " Fol¥ dances | | optiorigigiven below,
(C) FJIK songs “ | ) o (%Y Mgax ) Jhamal
(D) Fplk drama ,, (C) R aat ‘Parchi
(E)" "Question not atternpted 6\1 anemptcd
qefean, A T T §2 ferery 3 ert —Qq—@ aﬁr 3
R 3 waffie sugm smogh:
(A qT T . e .«
,{c) %rﬁa (®) < rq e 3 & wpartfire SugeE WL
) SR (D) wrEwTRE N Rore P
103 In 20.1 0,%hich famous folk dance of Rajasthan (E) gfﬁﬁﬂxm .
Wwas. inqluded by UNESCO in its intangible P
cultural heritage list? bt '
: 106 Which di ! Tt ’ ot
Choose the most appropriate answer g@ Iy :00:11 dl;\lect of the Rajasthan is spoken mar
options fen below: \..., & ,,?co Kota, Bundi, Jhalawar and B
A tegion?’® ;
(A) KSiBeliya Dance Q ! sy mth p
(B) ApH Dance \ 1&sthe most appropriate answer from
© Dance \ optionsigiven below:
((g)) Tgzgh Taali Da ce } f :2) “;dglawx (B) Mewati
Qugstion not at ) udhari - (D) Hadoti
2010 ¥ e & frr S A 3 e B Question not
(UNESCO) % . o attempted
‘ ST AT et et i wfinfe TSI % e, Y, <42, FremaTs SR ATt AT AT
e *ch?ﬁih?ham

) aggpferr i I IG: L ”é"a“ iﬁmﬁiﬁammmmﬂi
e ™ ®) =gy (A) g B)
© TWFI .. (D) ereh e Ry G (B) i
®) Hgfana & ‘%Wﬂﬂm By«
DEF - B14 ] Y b : | Cantd

22
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According to ‘Rising Rajasthan 2024°, Rajasthans

107 Which of the following is not the breed of buffalo: | 110
Choose the most appropriate answer from the rank in installed wind power capacity is:
options given below: Choose the most appropriate answer from the
(A)  Murrah (B) Mchsana options given below:
' d
(C) Beetal (D) Toda . (A) 4‘: (B) 2"(
¥ s
(E)  Question not attempted © 3 . () 1
frafafia 3 Q@ o ﬁaﬁmwﬁ %7 (E) Question not attempted
A R iR s e 2024°, ¥ AR gAT FAT b
iA g miﬁ n?ﬁmmm%mﬁmmwm%—
@) ®) T e fraredt 3§ & graffas suge sy
©) s Py TR (A) wgd uBp fed
(E) gaRaws (€ T (D) waH
v (E) qui@uy
108  Which of the following is the correct temperature p
for cryopreservation of semen in liquid nitrogen? 111 Who among the\”?wing players of tcam
Choose the mosr appropriate answer from the ‘Hockey Raj sr&"’ ade the only goal in the
options given below: lfi“‘ Hocke ia Junior Men's National
?ﬁﬁﬁmm@mr} & 8 Weﬁ fog ' gtamp};gﬁ agains; ‘Hockey Hafryana':
e ' o0s@ theymost appropriate answer from the
ik EY 35? op@ven below:
Fraferfn famedt 3 & waffaes I9FHIW ahil Ruhal ~ (B) . Sunil Mann
(A) -86°C \BY -19°C ) {é&) Anurag Suthar (D)  Amit Khasa
(© -196°C D) -=296°C . )  Question not attempted
(E) Question not ahempted/sagaﬁ?fsm \ BT Ty & Fefofaa & 4 e f‘@a@ I
2 14 o9 T T et AREATe-2024 F gty
109 A transmissiblc viral disease ‘Ran \’ TR %mmﬂ"ﬁﬁm
Y ﬁw%ﬁaﬁﬁﬁﬁﬁwmmmm
Choose the most appropriate a&b:om the :2)) qfee Feet (B) ﬂ#la‘ﬂ:\‘
options given below: \, (E) Qﬂ'ﬂﬂa’qyﬂ p o e
(A) Sheep 45 .
(B) Goat 112° Which of the following is a physical change?
(C) Poulay Choose the most appropriate answer from the
(D) Cow options given below:
(E)  Question not attempted (A)  Digestion of food
T HeRofty faamop s 7 wrrde frgesr ami (B) Rusting of iron
dTE? (C) Crystallisation
D) Bursting of crack
P fael 8 Fatfrar g ¢ ng of crackers
i Yz Wﬂ'} (E)  Question not attempted
et § @ S \ﬁﬁﬁaq-m
®) T Pretfnfre et B
(C)_Jagem_ (A) WNETHFIE  (B) WAy S
(D)., AC) BT (D) g T
(E) srgafass (E) qufawy Sl
F- B14 ] 23 ’
a ' [ Con‘d'--
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113 Which of the following fruits and vegetables
change their colour, when after cutting, they are
kept open for some lime?

a. Apple o b.  Tomato

c. Potato © d. Brinjal

c. Camot QO

Choose the mag{yappropriafe answer from the
options given belalv:

(A) a,cand c@nly (B) a,bandconly

(C) b,canddonly (D) c,dandeonly

(E) QuestiontDt attempted
P % 2 4R et S e e e

mm%%&@t@&vmﬁmnm—t
TR (o)

a W i b. TR

. I o d &R

c. ST .

1 R e e & wraffires sugew swo:
P AT, c Jitd (B) Faea,badkc

Y FEEb,c@{Rd ®f Feic,dRe
®) srEia B0

O

The total number of students in a school was 75,1.5‘
As a result of new admissions in the school, the d
number of boys increased by 1125 and the numh& -
of girls increascd by 20%. If the total number of ,;
students in the sct&yl became 846, then what ;,»i‘:

the number of girlSAow?

wmﬁ@'ﬁmﬁa—rm 750 % §
feramer i wq afadits it =09 e fr e |
7118 za&magffﬁn'ﬁmn 20% IR T
uﬁﬁmm:ﬁmﬁim-ﬁgmmqmnum

~ ,.-.'b T

agw"’raamémm%? 7
M0 168 o !

®) 150 @

(© 180 g%

D) 192

®) Qx‘a\d@ncmpmd 1 AR ¥

117 ;&ﬁ%ﬁ of twogmbcrs is 14 times their HCE

¢ sum of L@gi and HCF is 600. If coe of

114

b
,_* /< &/ e number is 28(Cthen the other number is:
thnanumbcremcrcasedby 47—-%0%11‘, \ iTé@BﬁETLC\\_mW = HCE

it becomes 590. The number 1s:

I TETEEY 47 7 % T T w

(A) 470 ® '0.
(B) 350 N 3
ey a0 O \.\

(D) 430 'S\J
(E) Qucstiong\umptcdl Iaia W

24

(e T S 14 T R T LOM (9
maﬁtu&mmﬁwm
TR AN T e 280 R, A @R wAR:

_ay 80 © ® 32
© 140 oo O 120
(E) ' Question nG\ténemeCd / IR ¥H

118 Ifthe average of Squmbers is 12 and the avera®

115 IF(150% of k) 4= 540, then the value of k is: oF five of these niRbers is 15, then what s ¢
TR (k FT 150%)KD3 = 540, Ak FTAHD: average of the remaining numbers?
(9 1080 g R 8 WA R 12 e A A i wET
(B) 360 (g m%xstﬁ&ﬁ@nﬁmmw%‘!
(C) 540 ~{ (A) 75 N ®B) 6
(D) 920 g © 65 (o) 2
DEF -(II;)N ]Quanon not attempted / TR war (E)  Question ng“empmd ! :qgaﬁlag:md
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! l"//.',"A’“‘ average age of Kos in a group of stwdents is

“twice the number of~girls in the group and the

average age of the whtite group of 50 students is
19.2 vears. 1f the ra&'_y of number of boys and
girls in the group is ¢+, then what is the average
age of girls (in years)!

50 faanfial & o @ srgt Y sivm 3T R
A Tl A e A A R T QR v
1 19.2 ax {1 3l gun ¥ wgF ok weht @
T T 3 4:1 ¥, Prgreferat i v sy (adt
) TR [55) '

(A) 17 o) 16

(©) 18 YD) 15

(E)  Question not :\E‘npted 1 gt uu

120 Udder sccretion immediately after calving is
known as d isrich in .
Choose the most apprppriate answer from the’
options given below:0D ,
(A) Calf starter, Ig@lB) Colostrum, Ig A
(C) Firstmilk, Ig D) Special milk, IgM
(E)  Question not a%mpted .
aw%m%m@ym%ﬁ%ﬁm%
a FHeaar € 3R qg ¥ W&
g o \
mﬁmﬁmm@:

LX) TR Ig (71B) [ Ig%
(C) WaugM,IgE D) %M
(E) IIRRATA g %

pS L

121 Which of the foll6Riflg 1% not the pastoral
community of thetHimalayas?

Choose the most priate answer from the
options given belowg
(A) Dhangar  OQB) Bhootiya
©) Kinnauri ND) Shc[pa
(E) Question not atttmpted
fr=fefaa § @ ?ﬁ'-!@&qmu T YRR TR
E ®? N o :
Frfaftra faaedt & § walfiye gogm s gi:
) A (B)
/:40\) fer=irdt (D) Fw
(B) STguraE A
DEF-B14] B 25
25

122 Vast natural pastures on the high mountains, in =

Garhwal region above 12;000 feet arc called:
Choosc the most appr@iale answer from the

options given below:

N

(A)  Evergreen grasslddd

(B) DBugyal :;;

(C) Bhabar (&)
s(D) Terai grassland

(E) A Qucstion not a(x‘c@ted

TGt 8§, 12,000 FezAfuF Fi1 S W fea
53 et v femer Fi, TOE FaeArd o
o e & 4 raffres e 97
(A) UIEER I, :

ABY Wé‘& o
©

- B

N Y o
,” z’:mO

) m -

RYs} A

1o :
[ 12 Mch of the following districts of Rajasthan had

N

the highest population™growth rate during the
decade 0f 2001-20117?

Choose the most appropriate answer from the
options given below: o )

. ¢ ]
(A) Jaipur N
(B) Bikaner t,g
(C) Barmer 'Q‘
(D) Kota O
(E)  Question not attempted
2001-2011 % =0 7 REfaRaa § ¥ wrorey o
For ot o et ke s oy
P fredt 2 Er g g
(A) AR L
(B) it
HC) T
(D) =
(B) rgafa s
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124  Which of the following districts of Rajasthan had Diffused refection is caused by:
the highest pereentage of urban population in Choosc the maost appropriate answer from g,
their total population in the census of 20117 dptiony given betow;
Choose 1l st appropriate answer fi the 1
3 SNBSS SROpIRate AN EE VD Fi (D) . Irregular surface of the refector
options given below: (C) Plane mirror
(A)  Udaipur (D) llr'ight and smooth surface
M) Jaipur (E)  Question not attempted
(C) Kota Rrafer (sfrafir ) T T T8 I Frer
(D) Dikaner et Rt & & werffirs g ame g
. . (A) SEaad S
(E)  Question not attempted By wuads 6 srfafua wag ;
2011 ¥ senTorT # treredr ¥ Fosfilaa § @ B (C) uwaer 3dw ‘
ﬁéﬁmmmmm@m ‘(D) =R iR R waE N
w1 gathe u . (B) oaRawx §
ﬁmﬂwi#am?mmgﬁ 127 - is mostly used as side mirror d
(A) . - vehicles. 4
3 A Choose the mos, ppmpnatz answer from L“:E
1B SAYR ontions o .
= ptions given bclow !
(o) (A) Concfiyelens (B) Concave mirror
D) = © g& rror (D) Plane mirror
('E)' aqafmsm CE),-\ ion not attempted
. Wamﬁﬂaﬁ:margﬁ%mém: '
125 Which of.thc followitl:g statements is incorrect "\ - mﬁammm?
about the image formed by a convex mirror? /< ‘% (A) Taawow (B) sraeT '
Choose the miost appropriate answer from the N ~H€) Inerdor D) w4
options given below: \ (B) rgai@ws
(A) Itis smaller than the object. \}
(B) Itis virtual and upright. \:my 128 :::0 ;S known as the fathcr of nuclear scxcnctu-
(C) Itis formed behind the m@ @ ,
: . Choose the most appropriate answer from X
(D) Itis formed on the s ide of the object. options given below:
(E) Question not (A)  Dr. Har Govind Khurana (Khoraoa)
ST 3 g W i (B) J.C.Bose
& ¥ P91 F e h () Rishi Charak
Iﬁnlélbaﬁmﬁﬁ&wﬁbﬁ I Eg)) Dr. Homi Jahangir Bhabha
Qucsuon not attempted
(A) FTgATRTEMR =
T TR 3 R v forr (e )
(B) ¥ smrelt it e e &) %Wﬁmmm
4 AT HAF T Frrferfre et & & wrarfires sugm T T
(D) FaEgam T H @A g (&) 3 T gne) @A
©) =Raww ~o) & ey it
(&) g (B) omERay
q
DEF- B14 | 8 26 [ Contd=
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S igu (R vif ":."

130

-
Which of the following endogrine glands is

known as the master gland of the Gody?

Choose the most appropriate ‘asver from the
options given below: e l“?

(A)  Thymus gland (B) "Adrég\;\l gland
(C) Pituitary gland (D) Thjﬂ:bid gland
(E)  Question not attempted *

Freafirfire @ w4 sttty e

it e &2 e
Frerfftaa faredt i @ waifaes Sy swog:
(A) R £

(B) rgEs (TPHE) e WD

(D) urEs At
(B) raiaws

0

fag!

Which of the following condition§ae correct for

donating the blood by a male or fétnale? ‘

a. The weight of a person must b:gz:iibové 45 kg.

b. The person should not suffer from any serious
discasc. L )

c. Hemoglobin level in their blood must p‘
betwcen 8 to 12.

d. The person has not donated lﬁ_(’))lod si'n%ﬂ

two years .

fom
B, M
Choose the most appropriate m&; froti the
options given below: .‘
g conly ‘.

A) aandbox_\ly (B) I

(€) b,canddonly, (D\S} d'd only

(E) Question nofatt

feht qew ordl TRE T T g F ol
frefataa § & F19- Tai were?

a. 36 aafth %179 45 kg 3 ARG e

b. zafr frf T T & difga sdhgar ofew

c. T T I G @ R g 2 3 ol B
 arfw -

d. mmﬁﬁﬁﬁﬂﬁﬁﬂﬁﬁmﬁ'ﬁ%fﬁmﬁl
ﬁﬁqmmﬁﬁm&mwmgﬁl .
(A) Faea3b_AF o, bafite

(©) Faab, c3d (D)  Faer caiwd
(B) JrgaRaxd

DEF- B14 | 8

27

o
131 A flap like clastic cartilage whighrgcts as a switch

between the esophagus and trachEh is:

Choose the maost appropriate gpswer from the

options given below: L
(A) Bronchus g
(B) Pharynx

(C) Larynx o
(D) Epiglottis o

(E)  Question not attempted @
@ R (GeR), N AR TR WO ST
ety et i B (et ¥ e e
Aufrad it @d- O

(¥ Q
(A) am{f} =
(B) M @
N W S
(\e]
S
<t
(@
Haemoglobin is present in © 2
Choose the most appropriate @Swer from the
options given below: )
(A) Both white and red blood%élls

(B) . White blood cells.i...
(C) Red blood cells
(D) Platelets g
(E) ‘Question notattempted
LUSIEERIRIEINES s
frfrfae fraedt 8 Wﬁﬁmmma_}
(A) 2t A TS T tﬁlﬁ'@ﬁ ;‘5
- (B) AT T WA F

O TmwERRE
©) iR
(E) Srquftaw
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_AB) T

AT Fasa, balRc (B)

(D) fommam (e wYE0)

(E)
DEF-B14] @ o 14

Select the correct statements from the following:
n. Canceriscaused by uncontrolled cell division.
b. Hepatitis-A is caused by bacteria,

c. Haemophilin is a genetic disorder.

d. Leprosy is a viral discase. -

Choose the most appropriate answer from the
options given bclow:' ,
a and c only

(A) a,bandconly (B)

(C) bandconly (D) aandd only
(E)  Qucstion not attempted

Preeferftrer % @ we e a1 g

o, S orfifa SR R 3 o gt R
b, RYerRE-A Sfampdl & e dar )

c. BT o gaRes fwm

d. T I s v Rrrey s A &)

1t o g R 1 & wrarffives guge SR
Faera afie
(C) Fa@b3iRe @{ FaTaaird

(E) TeRa@w®

is reddish brown, bean shaped

structure present in Jower abdominal cavity /{
human beings.

Choose the rost appropriate answer &Nc'
options given below: : \

(A) Thyroid gland 14 \/
(B) Kidney \” -
(C) Liver 'Q '

(D) Gall blnddcr
(E) ia

m%sfrngwﬁ
St 21
ﬁnﬁmmﬁ%wﬁmmmﬁ

(A) s Ay

Qucstxo

ﬁﬁw(iﬁﬂ)%maﬁ?
aaﬁv{m‘%ﬁ'a%wmﬁmé

(€) TFa (&)

rgaf@ 94

28

135

136

&

28

Identify the Rojasthani player who has not playe
cricket in Indian Cricket team.

Choosc the most appropriate answer from g,
options given below:

Aanantjit Singh Naruka

A)
(B) G'\gnn Kishanlal Khoda
(©) Hnnumant Singh
(D) "parthasarathy Harishchandra Sharma
(E) Question not attempted
g e Raeey R e P i frn
et Qe R:-
Ay freedt 7 & Tairs ITGH T G-
(A) e fiie e
(B) T R Qrgr
(©) Tt fu
) (D) mzfamﬁ
- "\0
Nu o chg is a rich source of:
roteins
g’ Iron and phosphoms
Unsaturated fatty acids
Carbohydrates

e. "Vitamin E

" Choose the most appropriate answer from &

options given below: ;
a and d only

(A) c,dandeonly (B)
(C) bandeonly (D)' a, b and c only
(E)  Question not attempted |
I Y 5 ¥ atvet v v A R
a. M'-T‘«?«-Tr
b, e R e
C.  STHIR T 0t T
d.  FEERIT @
e frfmes
RO e 2 & v Tges 3 T
¢, daf e Ry et a 3N
FTAb 3l ¢ (D) et o, b AN C
®) oy
( Contd~

.
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[“ilk? LAY M

Choosc the most appropriate answer from the

options givenbelow: .,

Cascin

(A) Lactose (B)., .
(©) Lactalbumin (D) Lactaglobulm
(E) Question not utlcmptcd

ﬁqﬂ‘aﬁaﬁﬁﬁﬁw-mwﬁwmaﬁmqmm
7
ﬁ%@ﬁﬁmﬁﬁwﬁﬂ?mmy
(A) W By &R

© Wwwgha (D) SR

(E) qaf@ws - '

138 \ The common test to check adulteration of ghee

\(Avith animal fatis:
Choose the most appropriate answer from the

options given below:
(A) Nitric acid test
(B) Carbolic acid test
©)
®)

Baudouin test
Halphens test
Question not attempted

(E)

[Ty G 8

ﬁqﬁfﬁaaﬁmaammwév
(A)  FATEfen STt e
(B) HrETTeT T THET ”\

©) ?ﬂ%ﬂ‘m"f P
o o
g agaﬂ'dva

A goldsmith has gold of 14 carat purity and 18
carat purity- In what ratio should he mix the two
{o make an omament of 15 carat purity?

e T 3 T 14 3R T v 18 e A
TR 1smwﬂmmﬁ%maﬂﬁ
ﬁm:sﬁqm 3 free?

_,W 3% . ’(B) 5:2
() 4:3 (D) 5:4

(E) Question 1ot atlempied / Syafe
DEF.B14) 8 29

139

29

141

mnagmﬁﬁamaﬁmmﬁ%m\[a

Which of the following is not a protein present in 1\1&/\ sum of ¥ 23,450 is divided among A, B, C and

D such that they received the money in the ratio

of A:B=2:3, B'C-5:6andC:D=3:4.
How much money did D receive?

z 23,450 @1 TR A, B, ca'mowwmaﬁﬁ
né%s%mmnﬁﬁiﬁa@mmsﬂ:s.

B:C=5:6TUC D = 3:4 § D @ fehem v
faam
(A) T 8,150 (B) %8500

(D) 8200

R zsaoo

(E) Qucsuon not attempted / SR T4

o
‘Digilocker’ is a @nment cloud based
platform prov:dukgpg) tion for:
Choose- the‘%s@rapnam answer from the

options g1 ‘wélow:
(A)‘ g clection related data in a digital

f'orm
Stonng cashina dxgual form

Storing important documents in a digital

form
(D) Storing precious metals in a digital form
(E) Question not attemnpted  :

e & g

Freafre et o & wratferes S ges v it

(A) TR i Rl w ¥ v
F & ferd

(B) mah&ﬁfzam&maw%m

Fr % il

(D)  ierefr wrgrat hr Refreer w0 i Wi vy 3
fog .

(E) gt wx
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142 | The upper limit of Joan amount proposed in the 144 Who |spjlhc nnnmcrbofzt:czl;r;;cal cducahon in -
first phasecof ‘Gopal Credit Card Schemc® for ““J““kﬂ (i SepiemBer A
. , Chooscﬂhc wtost appropriate answer from i,
one year iS5 \ opuonl' chn below:
Choose the\nost appropriate answer from the @ S Diva Kumari
options 3“& below: B (B) Siiti Kirodi Lal
BRIE mﬂi e 3 sy <o 3 s ©) E1ki Madan Dilawar
ot oRT ISt i ww ad 6 R (D) Dr. Prem Chand Bairwa
B ﬁﬂﬁmmﬁ%mﬁmmﬂﬁ : Guiestion not attempted
(A) T2,50000 L | mﬂ%mmﬁmm““)?\? |
_mr zso@o ' ; "
(© 275M0q0 A ﬁnﬁmm—«ﬁﬁﬂwﬁhmwﬁ
D) " =1oﬁmo ] T (A) '
(E) Questidn not attcmpted / 313?!?&1 wr ) (B)
143 The first phage of “Gopal Credit Card Scheme” |-+ . )
proposed @m 25" September 2024‘ to 3“' _ (E) :
October 2@ is to target tcachmg how many 145 1 ; {0 report by I‘orbés India published ia
Gopalak farhilies? -
— :&ﬁmb‘5r2024 In Indian q:atesRajaslhanmnkcd
Choose th;wst appropnare nnswer fmm thc ¥ @ inprojected GSDP Y 2024-25).
_options gn.@below 5 B, s Choose the most appropriate apswer fromthe. -
A) 1”%5 . \ _ voptlongg}vcn below: LA ‘
®) 3 lag e \} (A) - TR (Bleventh)... ‘ = —‘,.f_
© 5'»1:.1(6‘l \‘w (B) %(’I‘hlrd) .
o) 91a!>0 0 (© sY(Fifih)
(E) Queuon not attern t D) g(Sevcnth)
“riaTet HREEITE xwamsh 25 fiader (E) _ Question not attempted
. 20249 8 AT %mﬁa%ﬁmmﬁ - A R, 2024 3 S fEF
mqf@iﬁ FR? HFA R 3 T o, mnmaqmm(:ﬂ@
ﬁﬂ%@#ﬁmﬁﬂmﬁ&mmmgﬁ g“mﬁ%"“‘m%% Famd:
nauy : Freftian ﬁﬁ"ﬁﬁﬁmmmmﬁﬁ
‘® g | ® &
—— © it
@) 25 - (D) Wt
(B) STgAf@ A (B) argafer s
DEF-B14] 8 s X 30 E . [ Contd~
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148

~ options given below: A

(B) " *300 %t A

Which one of the f@ hot winds blows in

According  to” modificd"'Budget 2024 25 of
Rajasthan, how much moncy, is allocated under
»Doctor Shyama Prasad Mukherjee Zila Utthan
Yojana™? |

Choose the most appropnaté answer from the

(A) 900cr -
(C) S00cr (D) 700 cr

(E) Question not. attempted, |

R % aiERi wee 202425 %
mmmvﬁﬁwmm "’am:ﬁ
IR ST T ¥

Frerfataa fawedt 4 & watfies Juges saog:
(A) 9003 * 300%0g,

(C) S00Fg 700G
(E) 3gafawer - '

Where is the place of ongm of Luni river of
Rajasthan? . .
Choose_the most approprmte :answer, from the
options given below:

(A) Eastern Satpura range
(B) " Amarkantak '
(C) - Nagg-Pahar

(D) Angsi Glacier

(E) ., Question not attempted

Rajasthan?
Choose the /most appropriate answer from’ the
options given below:

(A) sirocco ., ,(B) Khamsin.
(© Loo ... (D Chinook
(E) Qucsuon not attempted
v 3 e Al T @ e frerfafed § @
w7
ﬁwmaﬁm*ﬁwﬂfawmm'@
(A) el ®) @i
o D) fow
(E) wgaﬂ’dﬂﬂ

"EFeBl4) @ . -3l

31

/69'5

149 Chulia a water fall is located in which of the

following physiogfablxic regions of Rajasthan?
Choose the most appropriate answer - from the
options given below:

(A) Aravaliregion

(B) Western desert plain rcgion

(C) Eastern plainregion” ’

(D) South-castern plateau region

(E) -Question not attempted y

v st o T % Pt § & fra
wiiferer & 7 fera 7

frefafaa fwedt & 4 Faifae Iugs Sat IH:

(@) Wﬁ?ﬁ&‘ﬁ‘

(B) ufisft .. av
© vﬁm@

3T &5

oA

\

Othch of the followmg types of forests are not

' found in RaJaSthan?

Choose the most appropriate answer from the

' options given below:

(A) Tidal forest _

(B) Tropical thom forest

(C) ‘Tropical dry deciduous forest

(D). Sub-tropicai montat}c forest

(E) 6ﬁcstidn'ﬁbt attempted - Vet
FrerfifRere ¥ foer o & S TromewTr ¥ sy m-?: R
[

ﬁqﬁm&mﬁiﬁﬁw&mmm T+

/(f‘r)"“dtﬂwaw

(B) Swrrfedia widaR T

(C)  Swrrfivfiy yyo wolarey o
(D) SOwrEHEEYTY Wt T

(B) orguiaws
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